
SAP ABAP table I0022 {Education}

I0022

SLART [CHAR (2)]

SLAND [CHAR (3)]

SLABS [CHAR (2)]

SLTP1 [NUMC (5)]

SLTP2 [NUMC (5)]

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)] I0022-SLAND = T005-LAND1 0..N

0..N

T517T

MANDT [CLNT (3)]

SPRSL [LANG (1)]

SLART [CHAR (2)]

 I0022-SLART = T517T-SLART 
0..N

0..N

T517Y

MANDT [CLNT (3)]

FACHR [NUMC (5)]

 I0022-SLTP1 = T517Y-FACHR 

0..N

0..N

 I0022-SLTP2 = T517Y-FACHR 

0..N

0..N

T519T

MANDT [CLNT (3)]

SPRSL [LANG (1)]

SLABS [CHAR (2)]

 I0022-SLABS = T519T-SLABS 

0..N

0..N


